BEF TR 100RELLE
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—F 9/28(H) 10/4 (%) 10/5(8)
B 45z BEEFD bodad ==
1R 2R 3R 4R SF F
-I 1 R BB 05. FFEAKRT C)
ZEk REF 05. FIEKRTC) I
2 bye
3 L &7 18. (Ry b, 1) 10:50
JIIE B&F 18. (ry b, 1V) 9:30 11
4 MR ft— 08. (Fv¥>RTC) )
Pk BEF 08. (F¥RTC) 9:15
5 w Zms [ENEST N ’
® BF 18. (ry b, 1Y)
6 bye
9:30
7 bye
1 3 8 BA = 2. (FrLrd)
AR A% 2. (Fr L)
9 9 stz 2. (F4R>av b)
s BT 21 (FARYaY )
10 bye
9:30
11 bye
19 NE Fik 22. (BRHKF) }
P EDH 22. (ERHKF) 9:15
13 AKX EE 24 JT=R557) ’
M #EY 24. JT=R957) 9:30
nwE &7 2. (FrLo) 10:50
B 15 bve
5 % 16 28 B 08 (F¥>ZTC) }
B3 HhE 17.(Fzy—) 9:30 I
4 *IJ 17 BE £4 03. (F>U) )
BE ES 03. (7> 1Uv)
® 18 bye '
19 hH % 08. (Fv¥ > XTC) 10:50
FH 50F 08. (F* >~ RTC) 9:30
20 Al BE 23. (Fr L) )
BK EE 2. (FrLrP) 9:15
21 AH #BE 22. (ERHKF) ’
BA BT 22. (ERHKF)
22 bye
9:30
23 bye
‘I 5 24 AR B 23. (Fr L)
FER BRE 23 (FrlLrd)
‘I ‘I 25 Bl BEE 2. (F4 R av b)
BME T 2. (F4 RT3y h)
26 bye
9:30
27 bye
28 I & 22. (BKHKF)
MmAH BE 22. (ERHKF) 9:15
09 B #&X 10. (BETY) )
ik #BH 10. (HETY) 9:30
30 g2 09.(T. O. P) i
FE A% 09.(T. 0. P) 10:50
31 bye
6 g9 I EE T1. (FATO) }
#Il BHF 11. (FATC)
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/2

—F 9/28(H) 10/4 (%) 10/5(8)
B 45z BEEFD bodad ==
1R 2R 3R 4R SF
7 33 i #E 23. (Fx L)
L)l E&F 2. (FrL )
34 bye
35 Ri BHE 08. (F¥~&RTC) 11:30
RS vEH 08. (F¥~RTC) 10:10
36 A 1E5h 03. (7>1)vw) )
A RE 03. (Z7>1Uv) 9:15
37 R E— 05. GREARTC) ’
HEH HEF 05. FIEKRTC)
38 bye
10:10
39 bye
10 40 aiE & 04 (NTT R&D)
=iE AETF 09.(T. 0. P)
16 4] EERE 13. FOETC)
FE E= 13. GROETC)
42 bye
10:10
43 bye
44 FE Rt 23. (Fr L)
WHE FF 2. (Fr L) 9:15
45 ENER & 2. (Fr L) :
XH ¥F 2. (FrLoD) 10:10
46 +H Ek 07. (V=——FEX) )
B 47 bve —
3 % 48 il B 08. (F¥>RXTC)
#H & 08. (F¥>~RXTC) 9:30 11
8 *IJ 49 HE = 05. BTEAKRT C) ’
#0O FF 05. FIEKRT C)
® 50 bye
10:10
51 bye
52 Ik 2 13. (FDETC)
WA sF 23. (Fx L) 9:55
53 B E 2. (F4 R av b) ’
RHE E8F 2. (FrLrd)
54 bye
10:10
55 bye
‘I 2 56 FE B 20. (Good shot)
FE BT 20. (Good shot)
14 57 BO IRt 09.(T. O. P)
MEE RE 09.(T. 0. P)
58 bye
10:50
59 bye
60 Fith A 2. (F4 R a v b)
0B BRE 11 (Fy-) 9:55
fE E=F 2. (Fr L) 10:50
62 = 08. (F¥>RATC) )
ot EIF 08 (FYrYRTC) 12:10
63 bye
2 64 MHE EE 11. (FATC)
& FIT 13. (ZDETC)
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